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* Note

Correct Answer will carry 1 mark per Question.
Incorrect Answer will carry 1/3 Negative mark.

1. Options shown in green color with a tick icon are correct.
2. Chosen option on the right of the question indicates the option selected by the candidate.

Q.1 1If the side of an equilateral triangle is 2 cm, then find the area and the altitude of the triangle.

Ans

3
p ! Area=g cm? and altitude = /3 cm

2
X 2 Area= 5 em?® and altitude =+/3 cm
X 3. Area=+/3 cm? and altitude =§ cm

v 4 Area=+/3 cm? and altitude = 3 cm

Question ID : 9489116869
Option 11D : 94891127475
Option 2 ID : 94891127476
Option 31D : 94891127474
Option 4 ID : 94891127473
Status : Answered
Chosen Option : 4




Q.2 Which place in India has been chosen as a UNESCO world heritage site in 2018?
Ans X 1. Konark Sun Temple, Konark, Odisha

/< 2. Dachigam National Park. Srinagar

/< 3. Lalbagh Botanical Garden, Bangalore

+ 4 Victorian Gothic and Art Deco Ensembles of Mumbai

Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 ID

Status:

Chosen Option :

1 9489117225

1 94891128898
1 94891128900
1 94891128899
1 94891128897

Not Attempted and
Marked For Review

Q.3  Adealer offers a discount of 10% on the marked price of an article and still makes a profit of 20 %. If the marked price
is 1,200, then the cost price is:

Ans X 1. F800
X 2. 3950
V' 3. 7900
X 4 7850
Question ID : 9489116858
Option 11D : 94891127429
Option 2 ID : 94891127432
Option 3 ID : 94891127431
Option 4 ID : 94891127430
Status : Answered
Chosen Option : 3
Q4 Which is India’s longest six-laned controlled-access expressway?
Ans X" 1. Western Peripheral expressway
+ 2. Agra-Lucknow expressway
/< 3. PV Narasimha Rao expressway
/< 4 Mumbai Pune expressway
Question ID : 9489117241
Option 11D : 94891128961
Option 2 ID : 94891128963
Option 3 ID : 94891128964
Option 4 1D : 94891128962
Status : Not Answered
Chosen Option : --




Q5 Which is the heaviest and most powerful communication satellite of India?

Ans  of 1. GSAT-11
/< 2. Kalpana-1
& 3 IRNSS-1D
X 4 GSAT-6
Question ID : 9489117231
Option 11D : 94891128921
Option 21D : 94891128922
Option 31D : 94891128923
Option 41D : 94891128924
Status : Marked For Review
Chosen Option : 3
Q.6  The value of the largest four-digit perfect square number divided by the smallest four-digit perfect square number will
be:
Ans  of 1. less than 10
/< 2 equal to 10
# 3. more than 10
/X 4 equalto9
Question ID : 9489116851
Option 11D : 94891127403
Option 2 ID : 94891127404
Option 3 ID : 94891127402
Option 4 ID : 94891127401
Status : Marked For Review

Chosen Option :

1

Q7 Ifa:b=3:7,then (4a+5b) : (9a+2b) =2

Ans

X141
X 2 37
V3 47
X 4 31

147
231
141
: 37

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

9489116854
94891127413
94891127416
94891127415
94891127414
Answered

Chosen Option: 3




Q.8

Ans

What does Article 243C deal with?
+ 1. Composition of the panchavats

X 2

Provision for early childhood care and education to children below the age of 6 years

/< 3. Protection of life and personal liberty

/< 4. Name and territory of the union

Question ID
Option 11D

Option 31D
Option 4 ID
Status

1 9489117228
194891128912
Option 21D :

94891128911

194891128910
194891128909
: Marked For Review
Chosen Option :

1

Q.9 The LCM of two prime numbers, aand b (@ > b > 1), is 697. The value of a—2b is:

Ans X 1.
X26
X35
Va7
Question ID : 9489116852
Option 11D : 94891127408
Option 2 ID : 94891127406
Option 31D : 94891127405
Option 4 ID : 94891127407
Status : Answered
Chosen Option : 2
Q.10 The mean of three numbers is 32. The range of this data set is 28 while the difference between the two smallest numbers
is 8. The greatest of the three numbers is:
ans  of 1. 48
X2 50
X3 52
X 4 51
Question ID : 9489116871
Option 11D : 94891127484
Option 2 ID : 94891127483
Option 31D : 94891127481
Option 4 1D : 94891127482
Status : Answered

Chosen Option :

1




Q.11 Recently, which Indian institute has edited the banana genome for the first time using the CRISPR/Cas9 technique?

Ans X 7.
Indian Agricultural Statistics Research Institute, New Delhi
+ 2. National Agri-Food Biotechnology Institute, Mohali
75 3. Indian Institute of Vegetable Research, Varanasi

/< 4 Indian Agricultural Research Institute (IARI), New Delhi

Question ID : 9489117205
Option 11D : 94891128820
Option 2 ID : 94891128818
Option 31D : 94891128819
Option 4 ID : 94891128817
Status : Not Answered
Chosen Option : --

Q.12 Whose famous quote is this?

“If you cry because the sun has gone out of your life. your tears will prevent you from seeing the stars.™

75 1. Amrita Pritam

Ans

75 2. Sri Aurobindo
< 3. Sumitranandan Pant

v 4 Rabindranath Tagore

Question ID : 9489117210
Option 11D : 94891128838
Option 2 1D : 94891128839
Option 3 1D : 94891128840
Option 4 1D : 94891128837
Status : Not Answered
Chosen Option : --




Q.13 Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even
if it appears to be at variance with commonly known facts, decide which of the given conclusions logically follow(s)

from the statements.

Statement: 1. All hens are pens.
I1. No pen is a ship.

Conclusion: I. No hen is a ship.

II. All pens are hens.

Ans X 1. Neither conclusion I nor II follows.
/5 2. Either conclusion I or II follows.
+ 3. Only conclusion I follows.
/< 4. Only conclusion II follows.
Question ID : 9489117374
Option 11D : 94891129496
Option 2 ID : 94891129495
Option 3 ID : 94891129493
Option 4 ID : 94891129494
Status : Answered
Chosen Option: 1
Q.14

Which of the following is a dormant volcano?
Ans 1. Mt. Erebus in Antarctica

/% 2. Sakurajima in Japan

v 3. Mauna Kea in Hawaii

/< 4 Etna in Italy

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
: Answered
01

Status
Chosen Option

9489117224

94891128894
94891128895
94891128893
94891128896




Q15 Solve the following.

g+8
88 X ——— =9
g8+-8x8+8
Ans 1
K 1
128
X2 128
VAN
X 4 64
Question ID : 9489116849
Option 11D : 94891127394
Option 2 ID : 94891127396
Option 31D : 94891127393
Option 4 ID : 94891127395
Status : Answered
Chosen Option: 3
Q.16 Who was the first Muslim lady to sing Vande Mataram at a Congress session?
Ans 1. Begum Hazrat Mahal
+ 2. Raihana Tyabji
& 3. Razia Khatun
< 4. Asghari Begum
Question ID : 9489117220
Option 11D : 94891128877
Option 21D : 94891128880
Option 31D : 94891128879
Option 41D : 94891128878
Status : Answered

Chosen Option :

1




Q.17 If 9 students are standing on a circular path, then the probability that 2 of them are always standing together is:

Ans 1
(1.1

7

?‘:2-5

2

Xs.E

1

X4‘§

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489116870

94891127480
94891127477
94891127479
94891127478
Not Answered

Q18 For which disease/disorder is a tranquilizer normally administered?

Ans o 1. Anxiety

/< 2. Diarrhoea

< 3. Diabetes
/< 4. Cancer

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

9489117214

94891128854
94891128856
94891128853
94891128855

Not Attempted and
Marked For Review

Q1% When 2525 is divided by 26, then the remainder is:

Ans J1_ 25
X2 2

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option -

9489116845
94891127380
94891127378
94891127379
94891127377
Answered

a




Q20 wWhich one of the following is an example of a major tectonic plate?

Ans  f 1. Pacific plate
/< 2. Nazca plate
/< 3. Cocos plate
/< 4. Arabian plate
Question ID : 9489117222
Option 11D : 94891128886
Option 2 1D : 94891128888
Option 31D : 94891128885
Option 4 1D : 94891128887
Status : Answered
Chosen Option : 2
Q.21 Which was the first Act passed by the British government to control and regulate the affairs of the East India Company
in India?
Ans X 1. Charter Act of 1853
X 2 India Council Act of 1909
+ 3. Regulating Act of 1773
X 4 Government of India Act of 1858
Question ID : 9489117229
Option 11D : 94891128914
Option 2 ID : 94891128916
Option 31D : 94891128913
Option 4 ID : 94891128915
Status : Answered
Chosen Option : 1
Q.22 For which purpose is India’s fastest and first multi-PetaFlops (OF) supercomputer ‘Pratyush’ used?
Ans X 1. Seismic data analysis
/< 2. Scientific data processing
/< 3. Pharmaceutical development
« 4 Weather forecasting
Question ID : 9489117238
Option 11D : 94891128950
Option 2 ID : 94891128952
Option 31D : 94891128951
Option 4 ID : 94891128949
Status : Answered
Chosen Option : 2




Q.23  If the difference between the compound interest and the simple interest on a certain sum of money at 8 % p.a. for 2

years is 240, then the sum of money is:

Ans 1 738,000

X 2. 337.000
W 3. 737,500
X 4. ¥38,500
Question ID : 9489116857
Option 11D : 94891127427
Option 2 ID : 94891127425
Option 3 1D : 94891127426
Option 4 1D : 94891127428
Status : Answered
Chosen Option : 3
Q24 Who built the Lingaraj Temple?
Ans 1. Rulers of the Rajput Chandela Dynasty
/< 2. Mughal Emperor Shah Jahan
/< 3. King Anantavarman Chodaganga Deva
« 4 Kin g Yayati Keshari of Somavamshi
Question ID : 9489117208
Option 11D : 94891128830
Option 2 ID : 94891128829
Option 31D : 94891128831
Option 4 ID : 94891128832
Status : Answered
Chosen Option : 3
Q.25 Two positions of a cubical block with faces A, B, C, D, E and F are shown below. When F is at the top which face will
be at the bottom?
B
c D A
Ans X1 A
X2 B
X3 C
v+ D
Question ID : 9489117402
Option 11D : 94891129608
Option 2 ID : 94891129605
Option 31D : 94891129607
Option 4 ID : 94891129606
Status : Answered
Chosen Option : 4




Q.26 Which of the following sermons of Gautama Buddha known as Fire Sermon?

Ans

/< 1. Brahmajala Sutra

& 2 Anatta-lakkhana Sutta

W 3 Adittaparivaya Sutta

/< 4 Dhammacakkappavattana Sutta

Question ID : 9489117219
Option 11D : 94891128874
Option 2 ID : 94891128876
Option 31D : 94891128873
Option 4 ID : 94891128875
Status : Answered
Chosen Option: 4
Q27 1f 60 % of a number is added to 36, gives the number itself then the number is:
Ans X 1.75
v 2. 90
X 3 80
X 4 100
Question ID : 9489116855
Option 11D : 94891127420
Option 2 ID : 94891127418
Option 31D : 94891127419
Option 4 ID : 94891127417
Status : Answered
Chosen Option : 2
Q.28 Spicejet recently operated India’s first ever biojet fuel flight. Which of the following institutes prepared the fuel?
Ans . . .
/< 1. Indian Space Research Organization. Bengaluru
X2
Defence Research and Development Organization, New Delhi
+ 3. CSIR-Indian Institute of Petroleum (IIP), Dehradun.
/< 4. Bhabha Atomic Research Centre, Mumbai
Question ID : 9489117243
Option 11D : 94891128969
Option 2 ID : 94891128972
Option 31D : 94891128970
Option 4 ID : 94891128971
Status : Answered
Chosen Option : 3




Q29 o is the world's youngest international chess grandmaster as of 315 December 20207

Ans 5 1. Wesley Barbasa So
+ 2. Sergey Karjakin
/< 3. Baskaran Adhiban
X 4. Humpy Koneru

Question ID : 9489117206
Option 11D : 94891128822
Option 2 1D : 94891128821
Option 31D : 94891128824
Option 4 1D : 94891128823
Status : Answered
Chosen Option: 1

Q.30 The pie chart depicted below shows the monthly budget of a middle class family. Study the chart carefully and answer
the question that follows.

Others, 2
T

Food, 3.5
Fuel 1
. Rent, 2.3
Health, 2 -

Education, 2.5

If the amount spent on food and education during a month was 18,000, then what was the total approximate amount
spent in that month?

Ans X 1. 329500
X 2. 345700
X 3350300
v 4 748900

Question ID : 9489117391
Option 11D : 94891129562
Option 2 ID : 94891129563
Option 31D : 94891129564
Option 4 ID : 94891129561
Status : Answered
Chosen Option : 4




Q.31 sStudy the table carefully and answer the question given below.

In the following table, the number of vacancies (in thousand numbers) for the post of clerk in three different states
Delhi, Haryana and Punjab are shown over the years 2015 to 2018.

Years 2015 | 2016 |2017 2018
States
Delhi T2 7.8 6.2 7
Haryana 5.6 6.2 5 52
Punjab 6.2 6 5.8 5.6

‘What is the average number of vacancies for the post of clerk in the state of Delhi for all the years together?

Ans X 1.7005
X 2. 7200
v 37050
X 45000
Question ID : 9489117390
Option 11D : 94891129557
Option 2 ID : 94891129559
Option 31D : 94891129558
Option 4 ID : 94891129560
Status : Answered
Chosen Option : 3
Q.32 Adealer marks his goods 20% above the cost price. He then allows a discount on it and makes a profit of 8%. Find the
rate of discount offered by the dealer.
Ans X1 4%
v'2 10%
X3 12%
X4 6%
Question ID : 9489116859
Option 11D : 94891127436
Option 2 ID : 94891127434
Option 31D : 94891127433
Option 4 ID : 94891127435
Status : Answered
Chosen Option : 2




Q.33

Ans

What is the electronic configuration of rhodium?
v 1. 152 252 2p8 352 3p5 3d10 452 4p% 448 55!
X 2 15?252 Epﬁ 3sl
X 3. 152 252 2p0 352 3p% 452 3410 4p°

X 4 152 252 2p% 352 3p0 45! 3d°

Question ID

19489117211
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

94891128841
94891128844
94891128843
94891128842
Not Answered

Q.34 Name the indigenously built patrol vessel commissioned by the Indian Coast Guard in September 2018.

Ans X 1. ICGS Samrat
X 2 ICGS Samarth
X 3. ICGS Vikram
v 4 ICGS Vijaya
Question ID : 9489117230
Option 11D : 94891128918
Option 2 ID : 94891128919
Option 31D : 94891128920
Option 4 ID : 94891128917
Status : Answered
Chosen Option : 3
Q.35 Read the given statement and conclusions carefully and decide which of the conclusions logically
follow(s) from the statement.
Statement: Of all the mobile phones manufactured in Korea, the ‘Maxto’ brand has the highest sale.
Conclusions: I. The quality of no other mobile phones in Korea is as high as that of ‘Maxto’.
II. The number of sales of all the brands of mobile phones manufactured in Korea is known.
Ans % 1. Only conclusion I follows.
< 2. Either Conclusion I or II follows.
v & Only Conclusion IT follows.
#< 4 Neither conclusion I nor II follows.
Question ID : 9489117382
Option 11D : 94891129525
Option 2 ID : 94891129527
Option 31D : 94891129526
Option 4 ID : 94891129528
Status : Not Answered




Q36 1f the product of two co-primes is 104, then their LCM:

Ans  of 1 is 104
X2 sl
# 3. can’t be determined
/< 4. is equal to their HCF

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489116848
94891127390
94891127389
94891127392
94891127391
Answered

1

Q.37 Three positive numbers are in the ratio of 1 : 2 : 5 and their LCM is 120. The HCF of the same numbers is:

Ans “1_ 12
X2 16
K3 10
X 4 14

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489116850
94891127398
94891127400
94891127397
94891127399
Answered

1

Q.38 In a triangle ABC. points D and E are on the sides AB and AC such that DE is parallel to BC and % = 2 IfAC=4cm,
thenAE =7
Ans X1 2cm
K2 24cm
X3 1.8cm
V4 1.5cm
Question ID : 9489116873
Option 11D : 94891127490
Option 2 ID : 94891127492
Option 3 ID : 94891127491
Option 4 ID : 94891127489
Status : Answered
Chosen Option : 4




Q.39 Who was the president of the first meeting of the constituent assembly which was held on December 9, 19462

Ans

/< 1. Manabendra Nath Roy

/5 2. JTawaharlal Nehru
+ 3. Dr. Sachchidananda Sinha
75 4. Dr. Rajendra Prasad

Question ID : 9489117227
Option 11D : 94891128905
Option 2 1D : 94891128908
Option 3 1D : 94891128906
Option 4 1D : 94891128907
Status : Answered
Chosen Option : 3
Q.40 AICC (All India Congress Committee) passed the Quit India Resolution on:
Ans
X 1. 8t January, 1942
X 2 18t jly, 1942
v 3. 8t August, 1942
X 4 151 August, 1942
Question ID : 9489117218
Option 11D : 94891128871
Option 2 1D : 94891128870
Option 31D : 94891128872
Option 4 ID : 94891128869
Status : Answered
Chosen Option : 4
Q.41 Since 2011 the supreme court banned the manufacture, sale and use of which pesticide that causes hazardous effects to
human life as well as the environment?
Ans 1. Malathion
v 2. Endosulfan
X 3. Clothianidin
/< 4. Chlorpyrifos
Question ID : 9489117235
Option 11D : 94891128940
Option 21D : 94891128938
Option 31D : 94891128937
Option 4 1D : 94891128939
Status : Answered
Chosen Option : 2




Q42 What is the official name of JavaScript?

Ans 1. JavaScript
v 2. ECMAScript
75 3. WireScript
/< 4 LiveScript

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489117236
94891128941
94891128944
94891128943
94891128942
Answered

1

Q43 “Waiting for a visa’ is whose autobiography?

Ans X 1. Jawaharlal Nehru
v 2. BR Ambedkar
X 3 Indira Gandhi
/< 4. Satyajit Ray

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489117209
94891128833
94891128835
94891128834
94891128836
Answered

3

Q.44 1na certain code language, ‘she is fine is written as ‘li qi si’ and ‘is Sam healthy” is written as ‘oi ti i’. Find the code for

]

Ans :Jyﬁ
X 2 s
K3 oal
X 4 oi

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489117375
94891129500
94891129499
94891129497
94891129498
Answered

1




Q.45

Ans

When was the National Food for Work Programme launched?

X114t October 2004

v 2. 14t November 2004
X 3. 14t December 2004
X 4 141 November 2005

Question ID : 9489117242
Option 11D : 94891128968
Option 2 ID : 94891128967
Option 3 ID : 94891128966
Option 4 ID : 94891128965
Status : Answered
Chosen Option: 3
Q46 The ‘Borlaug Award’ is given for outstanding work in the field of:
Ans 1. sports
X 2 films
& 3. medicine
« 4 agriculture and environment
Question ID : 9489117204
Option 11D : 94891128816
Option 2 ID : 94891128815
Option 31D : 94891128814
Option 4 1D : 94891128813
Status : Answered
Chosen Option: 3
Q.47 According to the United Nations which year is considered as the International Year of Indigenous Languages?
Ans X 1. 2009
X 2. 2007
X< 3 2018
v 4 2019
Question ID : 9489117234
Option 11D : 94891128934
Option 2 1D : 94891128936
Option 31D : 94891128933
Option 4 ID : 94891128935
Status : Answered
Chosen Option: 3




Q.48 MName the Indian scientist who shared the Nobel Prize for Medicine and Physiology in 1968 for cracking the genetic

code.

Ans X 1. Visvesvaraya

75 2. Meghnad Saha

+ 3. Har Gobind Khorana
75 4 Venkatraman Radhakrishnan

Question ID : 9489117216
Option 11D : 94891128861
Option 2 ID : 94891128864
Option 31D : 94891128862
Option 41D : 94891128863
Status : Answered
Chosen Option : 3
Q.49 Two sides of a triangle are of lengths 4 cm and 10 cm. If the length of the third side is @ cm, then:
ans 1.6 < a< 14
X2a<é
X3 a>5
X46<a<l2
Question ID : 9489116868
Option 11D : 94891127472
Option 2 ID : 94891127470
Option 31D : 94891127469
Option 4 ID : 94891127471
Status : Answered
Chosen Option: 4
Q50 Steel Authority of India Limited is an example of:
Ans o 1. Public sector industry
/< 2. Joint sector industry
/< 3. Co-operative sector industry
/< 4. Private sector industry
Question ID : 9489117223
Option 11D : 94891128891
Option 2 ID : 94891128890
Option 31D : 94891128889
Option 4 ID : 94891128892
Status : Answered

Chosen Option :

1




Q.51 Which pathogen causes *bakane’ (foolish seedling) disease in rice seedlings?

Ans 1. Rhizoctonia oryzae
/< 2. Curvularia lunata
/< 3. Drechslera gigante
« 4 Gibberella fujikuroi
Question ID : 9489117213
Option 1 1D : 94891128852
Option 2 ID : 94891128850
Option 3 ID : 94891128851
Option 4 ID : 94891128849
Status : Answered
Chosen Option: 1
Q.52

Who has been selected as the 193 member of the UN?
Ans X 1. France

' 2. South Sudan
75 3. Colombia

X 4 Brazil
Question ID : 9489117233
Option 11D : 94891128931
Option 2 1D : 94891128929
Option 31D : 94891128932
Option 41D : 94891128930
Status : Answered
Chosen Option : 2
Q.53 For treatment of which of the following is the bark of the Arjuna tree primarily used?
Ans X 1. Skin disease
' 2. Heart Disease
Z 3. Inflammation
/< 4 Tuberculosis
Question ID : 9489117215
Option 11D : 94891128859
Option 2 ID : 94891128858
Option 31D : 94891128860
Option 4 ID : 94891128857
Status : Answered

Chosen Option :

1




Q.54 The product of the LCM and the HCF of two positive numbers is 32 and the difference of the numbers is 4. The sum of

the same numbers is:

Ans X1, 16
X2 10
vz 12
X414
Question ID : 9489116847
Option 11D : 94891127388
Option 2 ID : 94891127385
Option 3 ID : 94891127386
Option 4 ID : 94891127387
Status : Answered
Chosen Option: 3
Q.55 Arrange the following words in the order in which they appear in an English dictionary.
1. Prophet
2. Prong
3. Propensity
4. Propose
Ans 1.1, 2:3.4
V2 231,4
753 21,34
N4 4,3,2,1
Question ID : 9489117394
Option 11D : 94891129573
Option 2 ID : 94891129574
Option 31D : 94891129575
Option 4 ID : 94891129576
Status : Answered
Chosen Option : 2




Q.56

Ans

If SHAME is coded as 20-9-2-14-6, then what is the code for FORT?
X 1. 8-17-20-22
X 2. 6-15-18-20
X 3. 7-15-19-20
v 4 7-16-19-21

Question ID : 9489117380
Option 11D : 94891129519
Option 2 ID : 94891129517
Option 31D : 94891129520
Option 4 ID : 94891129518
Status : Answered
Chosen Option: 4
Q.57 How many heritage cities have been selected for rejuvenation and development under National Heritage City
Development and Augmentation Yojana (HRIDAY)?
Ans X 1. 25
v 12
X3 20
X410
Question ID : 9489117240
Option 11D : 94891128959
Option 2 ID : 94891128957
Option 31D : 94891128958
Option 4 ID : 94891128960
Status : Answered
Chosen Option : 2
Q.58 1 . gt
If3a+4b=2 and ab = . ,then 27a® + 64 b* is:
Ans x 1. 2
X2 8
X3 4
Ve
Question ID : 9489116864
Option 11D : 94891127453
Option 2 ID : 94891127456
Option 31D : 94891127454
Option 4 ID : 94891127455
Status : Answered
Chosen Option : 2




Q.59 Sundari, Kasu and Jyothi took two tests each. The ratio of marks obtained to total marks for each of their two tests is
given below

22
R

. 24
Sundari - = and
60 40

35 54
Kasu-—and — ,
70 60
= A7 45
Jyothi - — and —
90 50

‘Who among them registered the maximum progress?

Ans X 1. Only Kasu
& 2. Both Sundari and Kasu
+ 3. Only Jyothi
/< 4. Only Sundari

Question ID : 9489116853
Option 11D : 94891127410
Option 2 ID : 94891127412
Option 31D : 94891127411
Option 4 ID : 94891127409
Status : Answered
Chosen Option: 1

e If% = 0.25, then the value of (i:—;:) =+ g is:
Ans 1
v =
h
X2
4
X 3. i
F o

Question ID : 9489116846
Option 11D : 94891127384
Option 21D : 94891127382
Option 31D : 94891127381
Option 4 ID : 94891127383
Status : Answered
Chosen Option : 1




Q.61 Alarge cube is formed by melting of three smaller cubes of sides 3 cm, 4 cm and 5 cm each. The ratio of the surface
areas of the three smaller cubes together to the larger cube is:

Ans X 1. 27 :64
V2 25:18
X39:4
X4 18:25
Question ID : 9489116867
Option 11D : 94891127468
Option 2 ID : 94891127467
Option 3 ID : 94891127466
Option 4 ID : 94891127465
Status : Answered
Chosen Option: 3
Q.62 8 men working 9 hours a day can complete a task in 20 days. How long will 7 men working 10 hours a day take to
complete the same task?
Ans 21
75 1. — days
oy
/< 2. 21 days
X 02
- ——— days
= ¥
144
4+ — days
= iy
Question ID : 9489116862
Option 11D : 94891127447
Option 2 ID : 94891127445
Option 3 ID : 94891127446
Option 4 ID : 94891127448
Status : Answered
Chosen Option : 4
Q63 The compound interest on a sum of 27,500 for 2 years at 4% p.a. is
Ans X1 3515
V2 3612
X 3. 2750
X 4. 7850
Question ID : 9489116856
Option 11D : 94891127424
Option 2 ID : 94891127423
Option 3 ID : 94891127421
Option 4 ID : 94891127422
Status : Answered
Chosen Option : 2




Q64 WWhat is the feature of ISRO Propulsion Complex (IPRC) organisation?

Ans XT

It deals with the practical use of space technology such as geodesy, satellite based telecommunications, etc.

v 2

Tt handles testing, assembly and integration of liquid propulsion control packages.

X 3

It applies remote sensing technology to manage natural resources.

/< 4 Tt is used to launch sounding rockets.

Question ID : 9489117232
Option 11D : 94891128927
Option 2 1D : 94891128928
Option 3 1D : 94891128925
Option 4 1D : 94891128926
Status : Answered
Chosen Option : 2
Q65 Tp a triangle ABC, tanA + tanB + tanC = ?
Ans 1. _tanA.tanB.tanC
< 2. tanA.tanB + tanB.tanC — tanC.tanA
X3l
v 4 tanA tanB.tanC
Question ID : 9489116872
Option 11D : 94891127487
Option 2 ID : 94891127486
Option 31D : 94891127488
Option 4 ID : 94891127485
Status : Answered
Chosen Option : 3
Q.66 A B-19° C 661 @iflg 31,800 6 6aa g @B25R | A QI @82ql 6 §6 AIR. B @Il @52iRl 4 §8 SIs 99°
C @IF a0eiml 9 §a Q19 | SAFIRER 6507 FIGRIQ BIGHIS 5 ° 6 * 4 EHIRLER A 6REE GF CIFET ?
Ans o 1. %600
% 2. 1,000
& 3. %400
X 4 %800
Question ID : 9489116861
Option 11D : 94891127442
Option 2 1D : 94891127444
Option 3 1D : 94891127441
Option 4 1D : 94891127443
Status : Answered

Chosen Option :

1




Q67 1fa? 4+ b2 +c2+3 =2(a+ b+ ), then the value of (a+ b+ ©) is:

Ans X1~ 2

X25
Vs 3
K44
Question ID : 9489116866
Option 11D : 94891127461
Option 2 ID : 94891127462
Option 31D : 94891127464
Option 4 ID : 94891127463
Status : Answered
Chosen Option : 2
Q68 gelect the letter that can replace the question mark (?) in the figure below.
Ans x 1. W
K2 P
Vi M
K4 X
Question ID : 9489117403
Option 11D : 94891129612
Option 2 ID : 94891129610
Option 31D : 94891129609
Option 4 ID : 94891129611
Status : Answered
Chosen Option : 3




Q.69 From a group of five boys, P, Q. R. S. T and three girls X, Y, Z, a team of five have to be selected on the basis of the
following criteria.

S and T cannot be together.
R and S have to be together.
S and Z cannot be together.
Q cannot be put with P.

If S is one of the members, which one of the following teams will be formed?

Ans 1 PSXQY

/X 2. SRYZQ

X 3. TXRYS

( 4. RQSYX
Question ID : 9489117398
Option 11D : 94891129590
Option 2 1D : 94891129589
Option 31D : 94891129592
Option 4 1D : 94891129591

Status : Answered
Chosen Option : 2
Q70 What is the theme of the World Economic Forum Annual Meeting, 2019?
Ans  of' 1
Globalization 4.0: Shaping a Global Architecture in the Age of the Fourth Industrial Revolution

/< 2. New global context

/< 3. New beginnings: making a difference

/< 4. Creating a shared future in a fractured world
Question ID : 9489117239
Option 11D : 94891128956
Option 2 ID : 94891128953
Option 3 ID : 94891128954
Option 4 ID : 94891128955

Status : Answered
Chosen Option: 1




Q.71 Which freedom fighter is remembered for his efforts in achieving the official language of India as Hindi?

Ans 3 1. Munishwar Dutt Upadhyay
X 2. Mahavir Tyagi
v 3. Purushottam Das Tandon
# 4 Ram Manohar Lohia
Question ID : 9489117221
Option 11D : 94891128881
Option 2 ID : 94891128882
Option 3 ID : 94891128883
Option 4 ID : 94891128884
Status : Answered
Chosen Option: 1
Q72 \Which era is called the golden age of ancient India?
Ans

& 1. The Chola Empire, 3™ century
& 2. The Mauryan Empire, 3rd century
v 3 The Gupta Empire, 4th century
/< 4. The Kushan Empire, 1%t century

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489117217
94891128868
94891128866
94891128865
94891128867
Answered

3

Q.73 Anexpress train travelled at an average speed of 100 km/h, stopping for 3 min after every 75 km. How much time it

took the express train to travel 600 km?

Ans X 1. 308 min
# 2 384 min
v 2 381 min
& 4 370 min

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489116863
94891127450
94891127451
94891127449
94891127452
Answered

3




Q74 What does FQDN stands for?
Ans X 1. Frequency Query Domain Name
7< 2. Fully Qualified Disk Name

7< 3. File Qualified Division Name

+ 4 Fully Qualified Domain Name

Question ID : 9489117237
Option 11D : 94891128947
Option 21D : 94891128948
Option 3 ID : 94891128946
Option 4 1D : 94891128945
Status : Answered
Chosen Option : 3
Q.75 = 5 i
Qoo eI QIFTR r 19° WIGITR = E26Mm 4Gl QRG 6REC?
Ans S tr
v 9Q°
s+ & £+t
. r—t
X 2
t 5
g Sr
X3 — 97—
5 £
5
K 4 ee
t r
Question ID : 9489116844
Option 11D : 94891127376
Option 2 1D : 94891127375
Option 31D : 94891127374
Option 4 1D : 94891127373
Status : Answered
Chosen Option: 1
Q76 Which of the following is used as a fissionable fuel in a nuclear reactor?
Ans X 1. py229
( 2. U235
x 3. UZDS
Question ID : 9489117212
Option 11D : 94891128848
Option 2 1D : 94891128845
Option 31D : 94891128846
Option 4 1D : 94891128847
Status : Answered




Q.77 Read the given statement and assumptions carefully and decide which of the assumptions is/are logically implicit from

Ans

the statement.

Statement: Romila got elected as the president of the student’s committee of her school, so she must be senior.
Assumptions:

1. Only members of the student’s committee can be seniors.

II. Only seniors can be the president of the student’s committee.

111 Only gitls can be the members of the student’s committee.
« 1. Only assumption II is implicit
/< 2. Both assumptions I and II are implicit
75 3. Only assumption I is implicit
/< 4. Both assumptions II and IIT are implicit

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489117381

94891129522
94891129523
94891129521
94891129524
Not Answered

Q.78 IfL+ M means ‘L is the son of M". L - M means ‘L is the husband of M, L * M means L is the brother of M’ and L +

Ans

M means ‘L is the mother of M’, what does A ¥ B + C mean?
v 1 A s the maternal uncle of C.
/< 2. A js the father of C.
< 3. A is the mother of C.

/< 4 Ais the nephew of C.

Question ID :
194891129510
194891129512
1 94891129509
1 94891129511
: Answered

Chosen Option :

Option 11D
Option 2 ID
Option 31D
Option 4 ID

Status

9489117378

1




Q.79 Select the set that can replace the question marks (?) in the following series.

D 20 J 14 P ?

23 G 17M 11

Ans 8
X1
i i
R
r PR
8
9
p R
S
8
v -
S
Question ID : 9489117399
Option 11D : 94891129596
Option 2 1D : 94891129595
Option 31D : 94891129593
Option 4 1D : 94891129594
Status : Answered
Chosen Option : 4
Q.80 4
40% of a number is 46 less than — of that number. Find the number.
Ans X 1. 105
X 2 85
<3 110
v 115
Question ID : 9489116860
Option 11D : 94891127437
Option 2 1D : 94891127440
Option 31D : 94891127438
Option 41D : 94891127439
Status : Answered
Chosen Option : 4




Select the number that can replace the question mark (?) in the third figure.

25 49

o

3|2 413 2|6

Ans «1-64
X< 2 81
X316
X 4 36

Question ID : 9489117384
Option 11D : 94891129535
Option 2 ID : 94891129536
Option 31D : 94891129534
Option 4 ID : 94891129533
Status : Answered
Chosen Option : 1
Q.82 gep Sumael SIQ IS § 2015 6 2016 €2 §4lIE] @8I FI9l 2IFIKIG] @RILIRIR P, Q, R, S Je° T 2 da Ga
YRIRR Qell 69IR 6TFR (R AHIER) 2l @HIef | Ity ARgse 993 1e° 962 GRITRgT 999 9en G |
40
= 34, s
% :(: 30 30 ]
= S
§ 25 §
= o Q‘:‘: 20
2| N
g .
=110 %
& §
5 =
P Q R S T
2015 @ 2016
9a9y types of cellphone-6am 641G 9812, no of units imported(in lakhs)- 2KKIF1 @RUADEL GG A3 (RA
HIER)
2015 @ 2016 G06a FgRYS 67F 69 6TIRR ACNF LENIC ISGT ST heER (289 Bgl efen add 2
Ans x 1 Q
X2Pp
V3 s
X 4R
Question ID : 9489117392
Option 11D : 94891129566
Option 2 ID : 94891129565
Option 31D : 94891129568
Option 4 ID : 94891129567
Status : Answered
Chosen Option : 3




Q.83 Atank, 4 m long, 2 m wide and 1.5 m deep, is dug in a field 22 m long and 14 m wide. If the earth dug out is evenly

spread out over the remaining field, then the level of the field will rise by:

Ans X1 5cm

v 2 4cm
X 3 475 cm
X 4 35cm
Question ID : 9489116865
Option 11D : 94891127458
Option 2 ID : 94891127457
Option 3 1D : 94891127460
Option 4 ID : 94891127459
Status : Answered
Chosen Option: 3
Q.84 According to the Department of Industrial Policy and Promotion (DIPP) which state ranked as the best performer in
start-up ranking 2019?
Ans 1. Chhattisgarh
/< 2. Punjab
X 3. Delhi
« 4 Gujarat
Question ID : 9489117207
Option 11D : 94891128826
Option 2 ID : 94891128828
Option 3 ID : 94891128827
Option 4 ID : 94891128825
Status : Answered
Chosen Option: 4
Q.85 Which among the following is the process of covering the soil/ground to create more favourable conditions for plant
growth, development and efficient crop production?
Ans X 1. Shelter belts
/< 2. Contour farming
+ 3 Mulching
/< 4. Terrace farming
Question ID : 9489117226
Option 11D : 94891128903
Option 2 ID : 94891128901
Option 3 1D : 94891128902
Option 4 1D : 94891128904
Status : Answered
Chosen Option : 2




Q.86 Select the number that can replace the question mark (?) in the following series.

2,5,11,20,32.47.7

Ans X 1. 52
X 2 54
K3 64
v 4 65
Question ID : 9489117386
Option 11D : 94891129541
Option 2 1D : 94891129544
Option 31D : 94891129542
Option 4 ID : 94891129543
Status : Answered
Chosen Option: 4
Q.87 Understand the pattern and select the number that can replace the question mark (?) in the third figure.
1 2 3
ans o1 4
X2 10
X312
X46
Question ID : 9489117387
Option 11D : 94891129548
Option 2 ID : 94891129547
Option 3 1D : 94891129545
Option 4 ID : 94891129546
Status : Answered
Chosen Option : 1




Q.88 Select the number that can replace the question mark (?) in the following series.

s M iec W e W

Ans X 1. 500
X 2. 600
X3 472
v 4 665
Question ID : 9489117388
Option 11D : 94891129551
Option 2 ID : 94891129552
Option 3 ID : 94891129549
Option 4 1D : 94891129550
Status : Answered
Chosen Option : 4
Q.89 The following graph shows the month-wise cumulative progress in the construction of a dam. If the progress in July is
equal to that of the highest progress recorded in any month in the given period, how much work will be completed by
the end of July?
Bl 44
40
=0 36
i::x 30
E 30
E 20 18
k] 10
® 19
0
JAN FEB MAR  APR MAY  JUN  JULY
Ans X 1. 50%
X 2 54%
V'3 56%
X 4. 52%
Question ID : 9489117389
Option 11D : 94891129553
Option 2 ID : 94891129556
Option 3 1D : 94891129554
Option 4 ID : 94891129555
Status : Not Answered
Chosen Option : --




Q.90 Three of the following four number pairs are alike in a certain way and one is different. Pick the odd one out.

Ans X'1.3-10
X 2 10-101
v 5-31
X4 7-50
Question ID : 9489117393
Option 11D : 94891129571
Option 21D : 94891129572
Option 31D : 94891129570
Option 4 ID : 94891129569
Status : Answered
Chosen Option : 3
Q.91 @Ellﬂl@a!@l G@Iéﬂ@}:_@ﬁ? FlRlex Q@Eg@l G‘ﬂﬁ?ﬁ{ o549 wleet Q@I@!EAG’[ £uG LPglr @18F |
g1y, o, eclglell
Ans
r R
v
X 3.
X 4
Question ID : 9489117396
Option 11D : 94891129582
Option 2 1D : 94891129583
Option 3 1D : 94891129581
Option 4 1D : 94891129584
Status : Answered

Chosen Option

12




Q92 1dentify the number that DOES NOT belong to the following series.

3,5,9,15,26,33,45,59

Ans  of 1. 26
X2 59
X3 15
X 4 45
Question ID : 9489117400
Option 11D : 94891129599
Option 2 ID : 94891129600
Option 31D : 94891129598
Option 4 ID : 94891129597
Status : Answered
Chosen Option : 1
Q.93 If ‘Urdu’, *Sanskrit’, ‘History”, *Physics’ and ‘Economics’ are known as “Physies’, *History”, ‘Urdu’, *Economics’ and
“Sanskrit’, respectively, then in which subject did we study about Newton?
Ans X 1. Physics
' 2. Economics
& 3. Urdu
/< 4. History
Question ID : 9489117376
Option 11D : 94891129501
Option 2 ID : 94891129502
Option 31D : 94891129503
Option 4 ID : 94891129504
Status : Answered
Chosen Option: 1




Q.94 Read the given statements and conclusions carefully. Assuming that the information given in the statements is true, even

if it appears to be at variance with commonly known facts, decide which of the given conclusions logically follow(s)
from the statements.

Statements: Some sisters are brothers.
Very few balloons are sisters.
Conclusions: I. Some brothers are balloons.

II. Some brothers are not balloons.
Ans 3 1. Only conclusion II follows.
+ 2. Either conclusion I or II follows.
& 3. Both the conclusions I and II follows.
75 4. Only conclusion I follows.

Question ID : 9489117379
Option 11D : 94891129514
Option 2 ID : 94891129516
Option 31D : 94891129515
Option 4 ID : 94891129513
Status : Answered
Chosen Option : 2
Q.95 Understand the pattern and select the number that can replace the question mark (?) in the third
figure.
N/
Ans J 1
X 2
Xs
X 4
Question ID : 9489117385
Option 11D : 94891129539
Option 2 ID : 94891129538
Option 31D : 94891129537
Option 4 ID : 94891129540
Status : Not Answered
Chosen Option : --




Q9 gelect the letter that can replace the question mark (?) in the figure below.

B|A|D|C

A|D|E
G|C

fa

Ans X1 H
X2 F
X3
VER

Question ID : 9489117401
Option 11D : 94891129604
Option 2 ID : 94891129602
Option 3 1D : 94891129601
Option 4 ID : 94891129603
Status : Not Answered
Chosen Option : --

Q97 Study the following information and answer the question given below it.
Lee, Bruce and Chan are caring.
Min, Chan and Ho are sensitive.
Bruce, Ho and Min are honest.
Lee, Min and Ho are creative.

Which one of the following persons is neither honest nor creative?
Ans X 1. Bruce
v 2 Chan
K 3 Lee
X 4 Min

Question ID : 9489117397
Option 11D : 94891129585
Option 2 ID : 94891129586
Option 31D : 94891129587
Option 4 1D : 94891129588
Status : Answered
Chosen Option : 2




Ans

< 1. Father

V' 2. Wife’s brother
#< 3. Maternal uncle
X 4 Wife’s father

Q.98 A and B are brothers. P and Q are a married couple. Q is the sister of A. How is B related to P?

Question ID : 9489117377
Option 11D : 94891129506
Option 2 1D : 94891129508
Option 3 1D : 94891129505
Option 4 1D : 94891129507
Status : Answered
Chosen Option : 2
Q.99 Understand the pattern and select the number that can replace the question mark (?) in the following figure.
34 118
46 106
58 94
70 | ?
Ans X178
X 2 80
X 3. 86
v g2
Question ID : 9489117383
Option 11D : 94891129532
Option 2 ID : 94891129529
Option 3 1D : 94891129530
Option 4 ID : 94891129531
Status : Answered
Chosen Option : 2
Q.100 Three of the following four letter-clusters are alike in a certain way and one is different. Pick the odd one out.
Ans X1 GQU
X 2. REI
V'3 SLO
X 4 DOS
Question ID : 9489117395
Option 11D : 94891129580
Option 2 ID : 94891129579
Option 3 ID : 94891129577
Option 4 ID : 94891129578
Status : Answered
Chosen Option: 3
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